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Copy and complete each problem below.  Set your working out clearly as you have been shown.

Round to 1 d.p.

### ÷ 10 ### ÷ 3 ### ÷ 4

[1] 956.5  ÷  10  = [2] 1002.4  ÷  3  = [3] 1082.1  ÷  4  =

### ÷ 4 ### ÷ 3 ### ÷ 6

[4] 916.5  ÷  4  = [5] 995.64  ÷  3  = [6] 1083.14  ÷  6  =

Round to 2 d.p.

### ÷ 12 ### ÷ 5 ### ÷ 4

[7] 630.96  ÷  12  = [8] 686.06  ÷  5  = [9] 799.83  ÷  4  =

### ÷ 12 ### ÷ 4 ### ÷ 3

[10] 684.31  ÷  12  = [11] 763.49  ÷  4  = [12] 842.45  ÷  3  =

Round to 3 d.p.

### ÷ 4 ### ÷ 4 ### ÷ 4

[13] 704.36  ÷  4  = [14] 759.58  ÷  4  = [15] 829.5  ÷  4  =

### ÷ 7 ### ÷ 5 ### ÷ 4

[16] 805  ÷  7  = [17] 891  ÷  5  = [18] 933  ÷  4  =



ANSWERS

Division Dividing decimal numbers and rounding

Copy and complete each problem below.  Set your working out clearly as you have been shown.

Round to 1 d.p.

### ÷ 10 0 ### ÷ 3 0 ### ÷ 4 0

[1] 956.5  ÷  10  = [2] 1002.4  ÷  3  = [3] 1082.1  ÷  4  =

0 ### ÷ 4 0 ### ÷ 3 0 ### ÷ 6 0

[4] 916.5  ÷  4  = [5] 995.64  ÷  3  = [6] 1083.14  ÷  6  =

Round to 2 d.p.

### ÷ 12 0 ### ÷ 5 0 ### ÷ 4 0

[7] 630.96  ÷  12  = [8] 686.06  ÷  5  = [9] 799.83  ÷  4  =

### ÷ 12 0 ### ÷ 4 0 ### ÷ 3 0

[10] 684.31  ÷  12  = [11] 763.49  ÷  4  = [12] 842.45  ÷  3  =

Round to 3 d.p.

### ÷ 4 0 ### ÷ 4 0 ### ÷ 4 0

[13] 704.36  ÷  4  = [14] 759.58  ÷  4  = [15] 829.5  ÷  4  =

### ÷ 7 0 ### ÷ 5 0 ### ÷ 4 0

[16] 805  ÷  7  = [17] 891  ÷  5  = [18] 933  ÷  4  =

176.090 189.895 207.375

115.000 178.200 233.250

52.58 137.21 199.96

57.03 190.87 280.82

95.7 334.1 270.5

229.1 331.9 180.5


